4] 3=

1. RXFPEE (ERMERREES)

20154818 &Y2016%53H31H

% =] 201545 & 20145 E(B%5) HR
(a) (b) (a) —(b)
1. [BEBOE]
(1) BEUNIEDER
ZmMEE 2,810,000 3,425,000 -615,000
Ex8 2,660,000 3,330,000 -670,000]REMEE FREEIRT SREREEDOHEE,
j= U= 150,000 95,000 55,000/ 10 EEDEERZ(RYrIT—VEHRENCDNYEZ %)
ZmEAE 5,000,000 5,446,543 -446,543| (RRKIMLAHFEE)
EE JNE 650,000 1,181,106 -531,106
JEHEEE 400,000 432,000 ~32,000|BHIEE~DYYEZ
SINEA 250,000 347,976 -97,976| L BITE100% . EF 35504, PLIRELR1004
BRI 0 401,130 -401,130|FN—TIA—SLETENEBRTHEL B85
FUXLA 5,000 4,434 566
fth eI 5,000 4,434 566 (RTEEMHA)
FRINAEE 8,465,000 | 10,057,083 -1,5692,083
(2) [BEERADER 0
EXE 3,315,000 2,059,363 1,255,637
URIE T B 0 34,650 -34,650REBER T D=8,
EEE 200,000 200,606 —606| (RyPT—UEEFEE, GIEINH)
Jife A% 1,500,000 416,760 1,083,240|CIK=SMER, BABESERRL, GEx G FHEL,
e 1,000,000 819,171 180,829| AP EF 34— PLBER TOMMFEER
FRAFIEE 0 0 0
G 15,000 15,074 —74| (BT FE i )
EDE 600,000 573,102 26,898| (RybT—VENRI, FEEHERIE ., GiETHZEE)
BAGR AR 2 0 0 0
AL 0 0 0
B 0 0 0
MEE 0 0 0
EHE 5,150,000 3,568,153 1,581,847
URIE T 5 0 980,888 -980,888|IREME & T D=8,
BEER 68,000 67,908 92| (FENMRIEH, BRI H)
HEH 100,000 93,891 6,109] (v MEZ, BIEITH)
ik 2L A 550,000 546,138 3,862 (WEERBEELE, BT #)
Lkt 250,000 242,564 7,436| GIEREBERE. BIFI#)
TAAER IR 912,000 110,114 801,886| PIEELLCCHERERAETS)
IS EART 1,000,000 0 1,000,000|60 B FE ([ IF7-#1E, FELPHPHEER,
s 300,000 311,600 -11,600| (QE—FR#f. XE %, GiFEi#H)
ERIE 300,000 277,175 22,825 (B F¥OvHRE, piELH)
BRI R 2 300,000 266,492 33,508| (CISE %, RifFEiidH)
EAN i 1,100,000 412,378 687,622| TLESEIEARE 255 . (7T H425 ., HPEEE425,
FBLAR 70,000 70,000 0] 18573
HEERZ DA 200,000 189,005 10,995| (B4 iifi #)
BEEBE 8,465,000 5,627,516 2,837,484
LR AR 0 4,429,667 -4,429,567
2. [BEMNMRZDER] 0
FEMNREE 13,712,809 9,283,242 4,429,567
BENER 0 0 0
LERRRE SMBEAE 0 0 0
MBI RkBAEERR 13,712,809 13,712,809 0




2. ERMEZRGEE NREK

201544A1H&XY201643A31H

i B FESE YN FHEE
IR | BEEREE| RmEE FENF
\ L|omme | EEERE
FIRT=TRE oy s | EFET
e ClkE

1. [BEEBDER]

(D BEBINEDER

Smes 2,810,000 2,810,000
E=B 2,660,000 2,660,000
(=S 150,000 150,000

ZHRFEME 5,000,000 5,000,000

e 400,000 100,000 150,000 650,000 650,000
SR 400,000 400,000 400,000
PIIE{YON 100,000 150,000 250,000 250,000
PRGELNON 0

N 5,000 5,000
it HEI 5,000 5,000

EE Iy 25t 650,000 | 7,815,000 8,465,000

(2)[BEERADE]

EXE 800,000 215,000 | 2,300,000 | 3,315,000 3,315,000
URIE % B 2 0
HEE 200,000 200,000
i Bk 1,500,000 1,500,000
SR 200,000 800,000 1,000,000
AR L 0
B 15,000 15,000
ETIE 600,000 600,000
BIER A R 0
o B E 0
FABLAGR 0
MER 0

=ImE 0 0 0 0| 5,150,000 5,150,000
URIE T 5 2 0 0
e 68,000 68,000
HEE 100,000 100,000
ik 2w 550,000 550,000
S 250,000 250,000
AT ST 912,000 912,000
INSICER ey 1,000,000 1,000,000
FEYE 300,000 300,000
SN 300,000 300,000
BECR A R # 300,000 300,000
o B EH 1,100,000 1,100,000
FLBLAGR 70,000 70,000
M2 fth 200,000 200,000

2 A E 3,315,000 | 5,150,000 8,465,000

L HRRE E 1 R AR 0

2. [BENMEDER]

BRI 0 0

BENER 0 0

L4 HR % 20 5 428 5 25 0 0

2 TF Bk B A EE 0 0




